mp= Integrate[(1/L) » ((Cos[2*Pi »t /L1 +1)/2) % (E*((@a-(l *2xPi xf)) xt)),
{t, (-L/2), (L/2)}]

4r2Sinh[ZL(a-2if )]

Out[1]= -
L@-2if n) (a2L2741af L2r-4 (—1+f2L2)7T2>

in[2:= Mani pul at e[

1
(47r25i nh[EL (a-24af ﬂ)]]/(L (a-24f x) (aZL2_4iaf L2x -4 (—1+f2L2)7r2)), {L, {1}}]

L1 [V

Out[2]= : 1
4r2Sinh[z (@a-2if ]

(a-21if n) (a2—41'1af n-4 (—1+f2>7T2)



2 | DAFx10_mathematica.nb

4mSinh[1 (a-21f m)]

= Conpl exExpand
In[5] [(a-ZifJT) (a2_4iaf7r—4(-1+f2)7r2)]

24a2f s Cosh[ 2] Sin(f n] 32f n°Cosh[Z] Sin(f n]
out[5]= + _
(a2+41272) (1682122 + (a2 -4 (-1+12) x2)°)  (a2+412s2) (16821252 + (a2-4 (-1+12) 22)°]

3213 7° Cosh|Z] Sin(f n]

a
2

(a2+4t272) (160212724 (a2 -4 (-1+12) 2)°)

4 @352 Cos [f n] Sinh[Z]

<a2+4f27T2> (16a2f27r2+ (a274

~1+12) HZ)Z)

16 an* Cos [f xr] Sinh|Z]

(a2 +4122) (16a212 72+ (a2 -4 (-1+12) 2)°)

48 af? 1% Cos [f ] Si nh[g}

(a2 4t22) (162212524 (a2 -4 (-1+12) 12)7)

4a37r2005h[g] Sin(f n]
iz _

(a2+41272) (162122 + (a2 -4 (-1+12) 22)%)

16 arn* Cosh[ 2] Sin(f n

(a2+4f272) (16221272 + (a2 -4 (-1+12) 22)?)

48 af? st Cosh[Z] Sin(f n]

(a2+4f272) (1622122 + (a2 -4 (-1+12) 22)?)

24a2f r® Cos [f nr] Sinh[Z]

(a2+4f272) (1682122 + (a2 -4 (-1+12) 2?)?)

32f n° Cos [f ] Si nh[;]

(a2+4f27r2) (1632f2H2+ <a274 (—1+f2) 7T2>2)

32375 Cos[f 7] Sinh[2]

(a2+4f27r2) (16a2f27r2+ <a274 (—l+f2) 7T2>2)
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4 a3 x? Cosh[Z] Sin[f x]
In[6]:= D[ArcTan[ - el
(a2+412x2) (16a212x2+ (a2-4 (-1+12) x*)°)

16 ax* Cosh[Z] Sin[f ]

(a2+4f27r2) (16a2f27r2+ (a2—4 (—1+f2) 71'2)2)

48 af?x* Cosh[Z] Sin[f x]

(a2+4f27r2) (16a2f27r2+ (a2—4 (—1+f2) 71'2)2)

24a2f 73 Cos [f x] Sinh[Z]

(a2+41252) (16821252 + (a2 -4 (-1 +12) n2)°)

32f n° Cos[f ] Sinh[Z]

(a2+4f252) (16221252 + (a2 -4 (-1 +12) x2)°)

323 7° Cos[f n] Sinh[Z] /
(a2+4f252) (16021252 + (a2 -4 (-1 +12) 2)°)

24a2f x® Cosh[Z] Sin[f x]

+

(a2+4f272) (1622122 + (a2 -4 (-1+12) x%)°)

32 f n5cOsh[§] Sin[f x]

(a2+41252) (16021272 + (a2 -4 (-1 +12) x2)°)

32f37° Cosh[Z] Sin(f x]

(a2+4f252) (16021252 + (a2 -4 (-1 +12) x2)°)

4 a® 72 Cos [f x] Si nh[%]

(a2+4f252) (16021252 + (a2 -4 (-1 +12) x2)°)

16 a 7 Cos [f =] Si nh[g]

(a2+4f27r2) (16a2f27r2+ (a2—4 (—1+f2) 71'2)2)

48af2x* Cos[f n] Sinh[}]

J 1]

(a2+4f27r2) (16a2f27r2+ (a2—4 (—1+f2) 71'2)2)

4a% % Cosh[ 2] Sin(f n]
ouel= |- | |- o
(a2 +4f2n2) (16a2f27r2+ (a2 -4 (-1+12) n2) )

16an4Oosh[g} Sin[f n

+

(a2+41272) (1622F2 72+ (a2 -4 (-1+12) x2)?)

48af? st Cosh[Z] Sin(f n]

+

(a2+4272) (1622122 + (a2 -4 (-1+12) 22)?)

24a2f ®Cos [f ] Sinh|[Z]

+

(a2+4f272) (1682122 + (a2 -4 (-1+12) 22)?)
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32f n®Cos [f n1] Sinh[Z]

(a2+41252) (1622122« (a2 -4

~1+12) 22)°)

3237 Cos [f n] Sinh[Z]

(a2+41252) (16821272 + (a2 -4 (-1+12) 22)?)

24a2f n* Cos [f n] Cosh| %]

+

(a2+41272) (1682122 + (a2 -4 (-1+12) x2)?)

2
(a2+41272) (1622122 + (a2 -4 (-1+12) n2)?)

323 78 Cos [f n] Cosh|[Z]

(a2+41252) (1682122 + (a2 -4 (-1+12) 22)?)

24 a?f 3 (32a2f m -16f 72 (a274 (—l+f2> nz)) Oosh[%} Sin[f n]
(a2+41252) (16221252 + (a2 -4 (-1+12) n2)2)2

32f n° (32a%f n2-16f 7 (a®-4 (-1+f2) x2)) Cosh[Z] Si

(a2+41252) (16221272 + (a2 -4 (-1+f2) 2)

3213 ° (32a2f n2-16f i (a?-4 (-1+f2) ?)) Cosh[Z] Sin[f n]

(a2+41252) (16a2f2 72+ (a2 -4 (-1+f2) n2)2)2

192 a%f2 75 Cosh 2] Sin(f ]

(a2+4f2ﬂ2)2 (16a2f2n2+ (a274 (—l+f2) n2>2)

256 f2 1" Cosh[ 2] Sin(f ]

+

(a2+4f2ﬂ2)2 (16a2f2712+ (a274 (—1+f2) n2>2)

256f4n7Oosh[g} Sin[f n]

+

(a2+4t272)? (1682122 ¢ (a2 -4 (-1412) 2)°)

24 a2 3 @sh[g] Sin(f n]

+

(a2+4272) (1622F2 72+ (a2 -4 (-1+12) x2)?)

32 7° Cosh[ 3] Sin(f ]

(a2+4f272) (1622122 + (a2 -4 (-1+12) 22)?)

96 f2 5° Cosh [ 3] Sin(f ]

(a2+41252) (1682122 + (a2 -4 (-1+12) 22)?)

4a%n? (32a%f n®-16f n® (a? -4 (-1+f2) n2)) Cos[f n] Sinh[Z]

(a2+41252) (1622122 + (a2 -4 (-1+12) n2>2)2

16an* (32a%f 7 161 72 (a® -4 (-1+f2) 72)) Cos[f n] Sinh[2]

+
2

(a2 +41252) (1682122 + (a2 -4 (-1+12) 2?)?)
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48af?n* (322%f n®-16f n* (a®-4 (-1+f2) 7)) Cos[f n] Sinh[Z]

2

(a2+4f252) (162122 + (a2 -4 (-1+12) 22)°]

32af n* Cos [f ] Sinh|[Z]

(a2 +41252)% (162122 + (a2 -4 (-1+12) 22)°]

+

128 af n® Cos [f n] Sinh[Z]
(a2 +41252)% (162122 + (a2 -4 (-1+12) 22)°]

384af3® Cos(f n1] Sinh[2]

(a2+4f2ﬂ2)2 (16a2f2n2+ (a274 (—1+f2) 712>2)

96 af n* Cos[f n] Sinh[Z]

(a2 +4122) (1682022« (a2 -4 (-1+12) 2)°)

2
(a2+4272) (1622F2 72+ (a2 -4 (-1+12) x2)°)

16as°Sin(f n] Sinh[Z]

+

2
(a2+4f272) (1622122 + (a2 -4 (-1+12) 22)?)

48af2r®Sin(f n] Sinh|[Z] /

(a2 +4f22) (1682022 (a2 -4 (-1+12) 2)°)

24a%f 7 Cosh[ 2] Sin(f n]

+

(a2+4122) (16021224 (a2 -4 (-1412) 2)?]

32f 50 msh[g} Sin[f n)

(a2 +4t272) (16221272 (a2 -4 (-1+12) 12)7)

32f3n5005h[g} Sin[f n

(a2+4f272) (1622122 + (a2 -4 (-1+12) 22)%)

4a% 5% Cos [f r] Sinh|[Z]

(a2+41272) (1682122 + (a2 -4 (-1+12) 22)?)

16 an* Cos [f 7] Sinh[Z]

(a2+41272) (1682122 + (a2 -4 (-1+12) x2)?)

48 af2 % Cos[f n] Si nh[;}

(a2 +41272) (1622122 (a2 -4 (-1+12) 22)?)

4 a3 73 Cos [f r1] Cosh|[Z |

(a2+4f27T2) (16a2f27T2+ (a274 (—l+f2) nz)z)

16 a n° Cos [f 1] Cosh ||

(a2+4f27r2) (16a2f27T2+ (a274 (—1+f2> JTZ)Z)
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48 af?s°Cos[f n] Cosh|%]

+

(a2+41252) (1682122 + (a2 -4 (-1+12) x2)?)

(a2 +41272) (16221252 (a2 -4 (-1+12) 12

4a%n? (32a%f n®-16f n® (a? -4 (-1+f2) n2)) Cosh[5] Sin[f ]
N
(a2+41252) (16221272 + (a2 -4 (-1+12) 7r2>2)2
16an* (32a%f n2-16f n? (a2-4 (-1+f2) x2)) Cosh[Z] Sin[f n]
2)2 )
[

48af?n* (3222f n2-16f % (a2 -4 (-1+f2) ?)) Cosh[Z] Sin(f )
2

+

(a2 +4f272) (162122 + (a2 -4 (-1+12) 22)°]

32a%f n* Cosh[ 2] Sin(f n]

+

(a2+4f2ﬂ2)2 (16a2f2n2+ (a274 (—1+f2) n2>2)

128af n® Cosh|[Z] Sin(f n

(a2+4f27T2)2 (16a2f2712+ (a274 (—1+f2) 7T2>2)

384af3n6cOsh[g] Sin(f n]

+

(a2+4272)" (1621252 + (a2-4 (-1+12) 22)°]

96 af n* Cosh[Z] Sin(f ]

(a2 +4122) (1602122« (a2 -4 (-1 +12) 2)°)

24a2f rn® (32@%f - 16f n® (a2 -4 (-1+f2) n?)) Cos[f n] Sinh[Z]

2

(a2+4f272) (162122 + (a2-4 (-1+12) 22)°]

32f n® (32a%f 2 -16f 5 (a2 -4 (-1+f2) n2)) Cos[f n] Sinh[Z]

2

+

(a2+41252) (1682122 + (a2 -4 (-1+12) 22)?)

32f3,° (32a2f 72 -16f 2 (a?-4 (-1+f2) %)) Cos[f nr] Sinh[Z]

2

(a2+4f272) (1682122 + (a2 -4 (-1+12) 22)?)

192 a?f2 5® Cos [f 7] Sinh[$]

(a2 +41252)% (162122 + (a2 -4 (-1+12) 22)°]

256 277 Cos [f 7] Sinh[2]

+

(a2+4f27r2)2 (16a2f27r2+ (a274 (—l+f2) 7T2>2)

256 f4 77 Cos [f 7] Sinh[2]

+

(a2+4f2ﬂ2)2 (16a2f2n2+ (a274 (—1+f2) n2>2)

24 a? 7% Cos [f 7] Sinh|[Z]

+

(a2 +4f22) (1602622 (a2 -4 (-1+12) 2)°)

32 7 Cos [f 7] Si nh[g}

(a2+41272) (1622F2 72+ (a2 -4 (-1+12) x2)°)



1+

96 f2 5 Cos [f n] Sinh[Z]

(a2+41252) (1682122 + (a2 -4 (-1+12) x2)?)

24a2f s*Sin(f x] Sinh[Z]

(a2 +41252) (1682122 + (a2 -4 (-1+12) 22)?)

32f 78 Sin(f ] Sinh|

N
-

(a2+4f2n2) (16a2f2n2+ (a274 (—1+f2> 7T2)2)

32f38Sin(f 1] Sinh|

TR

(a2+41252) (1682122 + (a2 -4 (-1+12) 22)?) /

24a2f 73 Cosh|[ 2] Sin(f n]

(a2+4f272) (1682122 + (a2 -4 (-1+12) 22)%)

32f n®Cosh[Z] Sin(f n]

(a2+41272) (1682122 + (a2 -4 (-1+12) 2?)?)

3213 7° Cosh|Z] Sin(f n

a
2

(a2 +a1272) (16021272 (a2 -4 (-1+12) n2)?)

4 a8 72 Cos[f nr] Si nh[g}

(a2+4122) (16021224 (a2 -4 (-1412) 2)?]

16 an* Cos[f nr] Sinh[Z]

(a2+4f272) (1622F2 72+ (a2 -4 (-1+12) 22)°)

48af?* Cos[f n1] Sinh[2]

(a2+4f27r2) (1632f27T2+ (a274 (—1+f2> JTZ)Z)

/

4a% 2 Cosh|[ 2] Sin(f ]

(a2+4f272) (1622122 + (a2 -4 (-1+12) 22)?)

16 arn* Cosh[Z] Sin(f n]

(a2+4f272) (1622122 + (a2 -4 (-1+12) 22)?)

48 af?s*Cosh[Z] Sin(f n]

(a2+4f272) (1682122 + (a2 -4 (-1+12) 22)?)

24a2f ®Cos [f ] Sinh[Z]

(a2+4252) (1682122 + (a2 -4 (-1+12) 22)?)

32f 7°Cos [f ] Sinh[2]

(a2+4f27r2) (16a2f2n2+ <a274 (—l+f2) ﬂz)z)

2
3212 °Cos[f n] Sinh|[Z]

(a2+4f272) (16221272 + (a2 -4 (-1+12) 22)°)

/
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24 a2 f n3c:osh[g] Sin(f n]

+

(a2+4f272) (1682122 + (a2 -4 (-1+12) 22)%)

32f n°Cosh[ 2] Sin(f n]

(a2+4f272) (1682122 + (a2 -4 (-1+12) 22)?)

32375 Cosh[ 5] Sin(f ]

(a2+4f272) (1682122 + (a2 -4 (-1+12) 22)?)

4a% 2 Cos [f ] Sinh|[Z]

(a2 +at272) (16021272 (a2 -4 (-1+12) 2)°)

16 a 7* Cos [f n] Si nh[g]

(a2+4f27r2) (16a2f2n2+ (a274 (—l+f2) 7T2>2)

48 af2 5% Cos [f ] Si nh[g]

(a2 +4122) (16@212 72+ (a2 -4 (-1+12) 22)°)

4a%x? Cosh[Z] Sin[f x]
in[7:= Mani pul ate[ -1|- - — -
(a+412x2) (16227252 + (a2 -4 (-1+12) n2)°)

16 an* Cosh[Z] Sinff x]

(a2+41252) (16221252 + (a2 -4 (-1 +12) n2)°)

48 af?x* Cosh[Z] Sin[f ]

(a2+4f252) (16021252 + (a2 -4 (-1 +12) x2)°)

24 a2 f 73 Cos [f x] Si nh[g]

(a2+4f27r2) (16a2f27r2+ (a2—4 (—1+f2) 7r2)2)

32f 7° Cos [f n] Si nh[g]

(2 +412%) (16821272 + (a2 -4 (-1+£2) x2)°)

3213 % Cos [f n] Sinh[2]

(aZ+41252) (16021252 + (a2-4 (-1 +12) n2)°)

24 a%f n* Cos [f 7] Cosh[Z]

+

(a2+4f27r2) (16a2f27r2+ (a2—4 (—1+f2) 7r2)2)

32 f 7% Cos [f x] msh[g]

(aZ+4f252) (16021252 + (a2-4 (-1 +12) n2)°)

323 x® Cos [f x] Cosh[Z]

(a2+41272) (160212724 (2 -4 (-1+12) 22)?)
(24071 = (32221 72 - 161 = (a2 - 4 (-1+1%) 2?)) Cosh[g] sinf 7r])/

((a2+ar27%) (160212224 (a2 -4 (-1412) 7?)2)2) -
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(321 #° (32071 #2161 =2 (a2—4(—1+f2)7r2))005h[g] sinf 1) /
(a2 +ar?2) (16221222 + (a7 -4 (-1412) ) ) ) «
(s21°° (32021 2 - 161 2 (a2-4(-1+f2)7r2))003h[§] sintf 1) /
(a2 +a1?2) (16021722 + (a7 -4 (-1412) ) ?)) -

192 a2f2 55 Cosh[g] Sin[f x]

(a2+4125%)" (1622122 + (-4 (-1+12) x%)°)

256 f2 5’ Cosh[Z] Sin[f x]

+

(a2+4125%)" (162212 x4 (-4 (-1+12) x%)°)

256 f 4 n’ Cosh[Z] Sin[f x]

+

(a2+412%)" (16221272 + (a2 -4 (-1 +12) x%)°)

24 a2 7® Cosh[ 3] Sin[f x]

+

(a2+41252) (16021272 + (a2 -4 (-1 +12) n2)°)

32 7° Cosh[5] Sin[f x]

(a2+4f252) (16021252 + (a2 -4 (-1 +12) 2)°)

96f2nSCosh[g] Sin[f n]

(a2+4f252) (16221252 + (a2 -4 (-1 +12) n2)°)

(4a37r2 (328%f n2 - 16 2 (a? -4 (-1 +12) x2)) Cos [f n] Sinh[g])/
(a2 +at?2) (16021722 + (a7 -4 (-1412) ) ?) ) -

(16ax* (32221 7 - 161 = (a% -4 (-1+1%) x?)) Cos[f =] Sinh[g])/
((a2+at?2) (1602122 + (a7 -4 (-2412) ) 7))«

(48af2x® (32221 #2161 2 (a2 - 4 (-1+1%) #%)) Cosif n] S nh[g])/
(a2 +a12) (168207 + (a7 -4 (-1417) 2)7)7) -

32a3f n* Cos[f x] Sinh[Z]

(a2+4125%)" (16221252 + (a2 -4 (-1+12) x%)°)

128 af n® Cos [f x] Sinh[Z]

(a2+4f252)" (16221272 + (-4 (-1+12) =%)°)

384 af3 58 Cos[f n] Si nh[g]

(a2+4125%)" (162212 x4 (-4 (-1412) x%)°)

96 af n* Cos [f x] Sinh[Z]

(2 +412%) (16821272 + (a2 -4 (-1+£2) x2)°)

4@ sinf x] Sinh[Z]

(a2 +4122) (16221272 + (a2 -4 (-1 +12) n2)°)

9
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16axn®Sin[f x] Sinh[Z]

+

(a2+4f252) (16021272 + (a2 -4 (-1 +12) n2)°)

48af2x°Sin(f x] Sinh[Z] /
(a2+4f252) (16221252 + (a2 -4 (-1 +12) x2)°)

24a2f x° Cosh[Z] Sin[f x]

+

(a2+4f252) (1622122 + (a2 -4 (-1 +12) x%)°)

32f n° Cosh[Z] Sin[f ]

(a2+4127%) (1622272 + (a2 -4 (-1+12) 22)°)

32f3x° Cosh[Z] Sin(f x]

(a2+412x%) (1602272 + (a2-4 (-1+12) 22)°) '
4 a3 72 Cos [f n] Si nh[%]
(aZ+412x%) (1602272 + (a2-4 (-1+12) 2)°) ’
16 ax* Cos[f n] Sinh[Z]
(a2+4127%) (1602272 + (a2-4 (-1+12) 2)°) )
48 af?x* Cos[f x] Sinh[Z]
(aZ+412x%) (1602272 + (a2-4 (-1+12) 2)°) '
4 a% 73 Cos [f ] Cosh[%]
_(a2+4f27r2) (1602F272+ (a2-4 (-1+12) 22)°) )
16 a n® Cos [f x] Cosh[Z]
(a2+41252) (16021272 + (a2 -4 (-1 +12) x2)°) '
48 af?x° Cos [f x] Cosh[Z]
.

(a2+4f252) (16021252 + (a2 -4 (-1 +12) n2)°)

(400 (32071 2161 2 (a2-4(—1+f2)7r2))Oosh[g] sinf 1) /
((a2+a12?) (1602124 (a2 -4 (-1412) nz)z)z) R

(16a7r4 (328%f n2 - 16 n2 (a2—4(—1+f2)7r2))COSh[g] Singf n])/
(a2 +at?) (1602172 + (a7 -4 (-1412) ) 7)) -

(48af?nt (32221 #2161 x (a2 -4 (-1417) nz))Oosh[g] sintt 1) /
(a2 +at?2) (16021224 (a7 -4 (-1412) ) 7))«

32a3f n* Cosh[Z] Sin[f x]

+

(a2+4122)" (16221272 + (a2 -4 (-1+12) x%)°)

128 af n® Cosh[Z] Sinff x]

(a2+41252)" (16221272 + (a2 -4 (-1+12) x%)°)
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384 af?x® Cosh[Z] Sin[f x]

+

(a2+41252)" (16221252 + (a2 -4 (-1+12) x%)°)

96 af n* Cosh[Z] Sin[f x]

(a2+4f252) (16021252 + (a2 -4 (-1 +12) n2)°)

(24021 7 (32821 72 161 2 (a2 -4 (-1+1%) #7)) Cos[f 7] Sinh[g])/
(a2 +at72) (16021722 + (a7 -4 (-1 412) ) 7)) -

(321 2 (32221 7 - 161 = (% -4 (-1+1%) x%)) Cos[f ] Sinh[g])/
(a2 +at?2) (1602172 + (a7 -4 (-1412) ) 7))«

(321%7° (320%f 22~ 161 #* (a4 (-1+12) ) Cos[f ] S nh[g])/
(a2 +at?2) (1602122 + (a2 -4 (-1 412) ) 7)) -

192 a?f 2 x° Cos [f x] Sinh[Z]

(a2+412)" (16221252 + (a2 -4 (-1+12) x%)°)

256 f2x’ Cos [f x] Sinh[Z]

+

(a2+41252)" (16221252 + (a2 -4 (-1412) x%)°)

256 f 4 5’ Cos [f x] Si nh[g]

+

(a2+4125%)" (16221252 + (a2 -4 (-1412) x%)°)

24 a? x® Cos [f 7] Sinh[Z]

(2 +412%) (16821272 + (a2 -4 (-1+£2) 22)°)

32 7° Cos[f n] Sinh[3]

(a2+4f27r2) (16a2f27r2+ (a2—4 (—l+f2) 71'2)2)

96 f 2 7° Cos [f n] Si nh[%]

(a2 +4122) (16221272 + (a2 -4 (-1 +12) n2)°)

24a2f x*Sin[f x] Sinh[Z]

(a2+4f252) (16021252 + (a2 -4 (-1 +12) n2)°)

32f n®Sin[f x] Sinh[Z]

(a2+4f252) (16221252 + (a2 -4 (-1 +12) n2)°)

323 7% Sinff n]Sinh[g] /
(a2+41252) (16221252 + (a2 -4 (-1 +12) n2)°)

24a2f 5 Cosh[Z] Sin[f x]

+

(a2+4f252) (162212x2 + (a2 -4 (-1+12) x%)°)

32f n° Cosh[Z] Sin[f x]

(a2+41252) (16021252 + (a2 -4 (-1 +12) x2)°)
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32f37° Cosh[5] Sin[f x]

+

(a2+41252) (16221252 + (a2 -4 (-1 +12) 2)°)

4 a%s? Cos [f x] Sinh[Z]

+

(a2+4f252) (16021252 + (a2 -4 (-1 +12) n2)°)

16 a 7 Cos [f =] Si nh[g]

(a2+4f252) (1622252 + (a2-4 (-1 +12) n2)°)

48 a2 x* Cos [f =] Sinh[g] /
(a2 +41252) (16221272 + (a2 -4 (-1 +12) n?)°)
4a%x? Cosh[Z] Sin(f x]

1+ |- -
(a2+412x%) (1602272 + (a2-4 (-1+12) 22)°)

16 ax* Cosh[Z] Sinf x]

+

(a2+4127%) (1602272 + (a2-4 (-1+12) 2)°)

48af2n4Oosh[§] Sin[f x]

+

(a2+4f27r2) (16a2f27r2+ (a2—4 (—1 +f2) 7r2)2)

24 a%f 7® Cos [f x] Sinh[Z]

+

(a2+4f27r2) (16a2f27r2+ (a2—4 (—1 +f2) 7r2)2)

32f n° Cos [f n] Sinh[2]

(a2+4f27r2) (16a2f27r2+ (a2—4 (—l +f2) 7r2)2)

321370 Cos[f n] Sinh[2]

2
(a2+4f27r2) (16a2f27r2+(a2—4(—l+f2)7r2)2) /

24 a2 f n3003h[g] Sin[f x]

+

(a2+4f27r2) (16a2f27r2+ (a2—4 (—l+f2) 7r2)2)

32f n° Cosh[Z] Sin[f ]

(a2+412x%) (1602272 + (a2-4 (-1+12) 22)°)

32f37r5003h[g] Sin[f n]

+

(a2+4f27r2) (16a2f27r2+ (a2—4 (—1 +f2) 7r2)2)

4 a3 72 Cos [f x] Sinh[Z]

+

(a2+4f27r2) (16a2f27r2+ (a2—4 (—1 +f2) 7r2)2)

16 a n* Cos [f n] Si nh[g]

(a2+4f27r2) (16a2f27r2+ (a2—4 (—l +f2) 7r2)2)

48af2x* Cos[f n] Sinh[2]

—| |- . o1]
(a2+4f27r2) (16a2f27r2+ (a2—4 (—l+f2) 7r2) )
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f0 [V

4ar®Cosh[3]  16s°Cosh[3] 24s°Sinh[3]  32s°Sinh[f

Out[7]= +
(a2+4n2)2 a? (a2+47r2)2

(a2+4n2)2 h a(a2+4n22

)
4ar?sinh[2]  16x*Sinh[Z]

+
(a2+4n2)2 a(a2+4n2)2

4ar®Cosh[Z] 167°Cosh[Z] 24xSinh[Z] 32x5Sinh[Z]

(Elz+47r2)2 a (Elz+47r2)2 (a2-+47r2)2 a? (a2+47|'2)2

In[8:= FuIISianify[ — —
4a7rZS|nh[5] 167r‘S|nh[5]
+

(a2-+‘47r2)2 a(a2+47r2)2
2 4 a a
out[g]= 7T —+4—00th[—}
a a2+4n? 2
2 4 a a
o= Pl ot [7r —+—-Ooth[—] , {a, -10, 10}]
a al+472 2
15F
10F
05F
oo 4 N
-10 -5 r 5 10
-05F
-10F
-15F
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4 a3 x? Cosh[Z] Sin[f x]
(1= Ful | Si nplify[Sqrt[ - — -
(a2+4f27r2) (16a2f27r2+(a2—4(—1+f2)71'2))

16 ax* Cosh[Z] Sin[f ]

+

(a2 +412 %) (16221224 (a2 -4 (-1+£2) 22)°)

48 af2?x* Cosh[Z] Sin[f x]

+

(aZ+4f2x2) (16221272 + (a2-4 (-1412) n2)°)

24a2f 7 Cos[f ] Sinh[Z]

(a2 +4f22) (1682122 + (a2 -4 (-1 +12) =%)°)

32f n° Cos[f ] Sinh[Z]

(a2+4f252) (16821252 + (a2 -4 (-1 +12) x%)°)

323 7° Cos [f n] Sinh[Z]
N2+
) 7))

(a2+412x?) (1622127 + (a2 -4 (-1+12

+

24a2f 73 Cosh[Z] Sin[f ]
(a2+4f252) (16021272 + (a2 -4 (-1 +12) x2)°)

32f n° Cosh[Z] Sin[f x]

(a2+4f252) (16821272 + (a2 -4 (-1 +12) x%)°)

323 7% Cosh[Z] Sinff x]

+

(a2+4f252) (1622122 + (a2 -4 (-1 +12) =%)°)

4 a3 72 Cos [f n] Si nh[%]

+

(a2+4f27r2) (16a2f27r2+ (a2—4 (—l+f2) 7r2)2)

16 an* Cos [f x] Sinh[Z]

(a2+4f27r2) (16a2f27r2+ (a2—4 (—1+f2) 7r2)2)
48 af2n* Cos[f n] Si nh[%]

2 2 2 2¢2 2 2 22]A2]]]
(a2+412x2) (16a2f2x2+ (a2-4 (-1+12) x?)°)

-2Cos[2f ] +2Cosh[a]

oui1]= 2 7
ab + 4 a* (2+3f2) 72 + 16 a2 (1+3f4) s+ 64f2 (—1+f2)27T6
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n[121:= Mani pul at e[

-Cos[2f x] + Cosh[a]

LogP! ot [2«/7;# , (f, -10, 10}],

a®+dat (24312) n2+16a2 (L+31%) n +6412 (-1412)° 70

{a, 0, 10}]

2

out[12]= 0.001+




